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Answer 5 out of 8 questions.

1) A finance company advertises two investment plans. In plan 1, the company (10)
pays Rs. 12,000 after 15 years for every Rs 1,000 invested now. In plan 2,

for every Rs 1,000 invested, the company pays Rs. 4,000 at the end of the

10th year and Rs 4,000 at the end of 15th year. Select the best investment

plan from the investor's point of view at i = 12%, compounded annually.

[Show calculations, Draw cashflow diagram-with explanation]

A)
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A person is planning for his retired life. He has 10 more years of service. He (10)
would like to deposit 20% of his salary, which is Rs 4,000, at the end of the

first year, and thereafter he wishes to deposit the amount with an annual
increase of Rs 500 for the next 9 years with an interest rate of 15%. Find

the total amount at the end of the 10th year of the above series.

[Show calculations, Draw cashflow diagram-with explanation]

Page #2



COMPOUND INTEREST TABLES

15% Compound Inferest Faclors 15%
Single Fayment Uniform Paymend Series Arithmetic Gradient

Campound Freseni Sinklng Capital Camprund Present Gradient  Gradient

Amaunl Warth Fund Recovery Amound Warih Liisifrm Present

Factar Faclor FatLosr Factor Faclar Factor Spries warth

Find F Flml # Fimel A Fimal A Find F Fimd # Fimd A Firal

Given P Given F Gilven F Given Given A Given A Cilven Given
n P PIF AfF AfP A PiA AlG PG i
1 L 15k R 1 A0EKD 1 U5 (L (LHT0 i (i} 1
2 1522 7541 A5 G151 1150 1,624 Ldhs [LI56 2
3 1.521 AT SERD EELI] 1472 2,253 L1 2070 3
4 1.74% ST18 10 s 4503 1855 1326 4786 4
-] 24M1 A9 NELES 2083 6,742 3352 1.723 5773 5
& 2313 4521 1142 2642 BS54 17H4 AT 7.837 1t
T 2640 59 g 240 110G 4160 24350 192 7
] .05 F26 KR 2x3n 13,927 4447 2.781 12481 &
9 1518 2845 396 S 16780 4,772 3z 14.753 L]
1] 4. (1af 2472 AM93 195 20l 5004 3.3K3 16T L]
11 4 652 2041 Al 1%L 24505 5434 1655 19.129 11
11 5350 EAD RIEER] 1845 20002 421 904 20,185 12
11 6,152 Q625 2% ATl 4,352 5503 EREE! 23,133 13
14 7076 L1413 0247 1747 40,505 a4 46T M.0T2 14
15 B.137 1229 0210 ATIN 47.5%) 5847 4,965 20,593 15
1t W ASH s ™ AT 55,717 5,454 4,752 28,590 16
17T 1Tl D iS4 65 i3 075 607 4,925 25.7R3 17
(] 12375 SR a2 a3z 15830 6.l ZH 50084 31156 18
(R 14,212 Nipik! 13 1613 88,212 6. 198 5231 32421 1
pall 16.36T Al TG 1598 02 Ak A5 3363 13,582 mn
Il 18.H1Z 530 (HR42 1584 TIRRIO [ 2438 T 1k 5 21
22 10645 JH6E J0T2Y A5 1370632 6.359 5,601 35615 F
23 24,891 (H02 AIG2E 563 159.276 6,359 5704 ey e
4 2H.625 49 RLILER] 1554 184168 6,034 5,798 7.3 4
5 32919 Andia JaETn 1547 212,703 1.4 5.8K3 3aml 15
6 37857 JAikhd T 1541 25712 49| 59061 15 652 0
b1 43,533 JEED K353 REEL 283,569 £.514 G0 39,249 I7
2H A AN R K04 REE] 300 5534 15 WL ATE kL]
v 51.575 174 s 1527 ITLIT) 6,551 .15 #3135 FLJ
] 66,112 HHE] AE3D U523 434,745 6.508 H.207 A T51 M
3 T 144 AN AN 1520 HHL9S? [ #.254 4].147 M
iz B7.545 4 00173 ASLT ST 1N fi, 391 G297 4150 n
as 1IN iy alsn 1515 il A i B [T 41 HIE i3
M | 15,805 REiL]) Al | A513 65365 i G [ER 42103 34
15 13510 00?5l s 1511 EA N ] BhIT G A02 42,38 15
Ell 2T Ao AHKETS LHNOSE A6 | TR G0dE 6517 43,285 dik
a5 538,769 [HE Bed] 151 A 5E5.0 .54 6,585 41205 45
5l | OR3.T A2 0014 RE TH7T il G620 44.0Fis B
85 PR AN DO 500 T 5241 il ] f.641 44 256 55
il 43R40 K123 RLCEEES 15000 29 2204 G665 G453 44,343 &l
(L] EKITH LKL (LATERH 150Kl ERTIRA SRR H63e 4 3500 0
Rl 17 1357 R ] | 150K 118 221.5 ARG LWL} 44,4104 Tk
15 M AT2S CKHIS LI 5K} 2504025 54050 60065 44,474 &
Kk T1 1505 ERT ] IS 4781326 &,66T &, el A 3G L]

HEd 144 310.7 AHNE ] N k] and 1i4.4 66T 6.6 A4 440 85

Raja Constructions has to replace a Concrete mixing facility after 15 years (10)
at an outlay Rs. 15,00,000. It plans to deposit an equal amount at the end

of every year for next 15 years at an interest rate of 15% compounded

annually. Find the equivalent amount that must be deposited at the end of
every year for next 15 years

[Write the formula, show calculations, draw cashflow diagram-with
explanation]

Page #3



3)

4)

5)

6)

B)

COMPOLIND IMTE QH_.I_ 'I':'\HI.E.\

"
5% Compound Inferest Faclors 15

Single Payment Uniform Payment Serics Arlthmetic Gradient

Campoune Fresent Sinkling Capital Compound Present Gradient  Gradient

Amaounl Warth Fund Recovery Aot Warih Lilform Present

Faclor Factor FatLir Factor Faclor Faclor Series wWarth

Find F Fimd # Fimel A Fina A Find F _f_l'lbl] " !.irllj .'1._L I.Inl‘l P‘.

Given P Given F Cidven F Geiven # Given A Given A Civen 'Gn'tl‘ll_ i
n [ PIF AJF AP FiA FiA AIG PG i
150 it K RE 10K 047 [ 0 1
a 322 :g::]l a1 815 2150 1626 0465 s :
3 1521 875 JIERD A0 1472 2,283 17 207k 3
4 1.74% STI8 200 R 4903 1855 1326 3186 4
s 1M1 AL 1443 20%3 6,702 3352 1723 ETIS 5
5 2313 453 1142 2642 £.154 1704 AT 7037 b
7 2640 759 0904 240 11,067 4. 160 2450 10,192 7
8 5,050 3200 R ) 13727 4487 2781 12481 Y
I 3518 2845 A5 G 16786 4772 3,092 14.755 "
10 4.046 2472 A3 Jana 204 solg 3343 16979 in
1 40 TII 24,305 5,23 1655 19,129 i
:; igzu 809 344 1845 29007 5421 3,008 21,185 12
11 61981 1625 a8 AT 44,352 5563 4144 13,128 13
14 7076 1412 247 1747 401,505 4924 4,362 24,472 1
1% B.1AY 1222 210 AT 4758 SRIT 4,565 26,5853 15
16 (Y 79 1679 55717 5054 752 20596 16
:? 0361 }Ir!:fj 0154 165 4,073 6047 4925 29,753 1
if 12375 SR 0132 1633 75536 6178 4.084 31136 1%
in 14,232 RipE] 0113 1613 88,212 6. 198 5211 ]----4-1 Em
it 16367 ol UTE 159K X TE GA5% 3.306d 13,582 an
I mEE: 0531 42 K] TIRHI0 6312 3488 .05 ETY
1 1645 467 a2 NEE 137,652 6,359 5601 18,615 2
2 24891 (i Aezs 1563 159,276 .35 5.0k 36.499 b
24 26625 349 0542 1554 14168 6,034 5,798 37500 4
25 32910 A1 D470 1547 212793 6464 5861 18031 5
7 Ded a7 1541 2 491 5001 13 02 0
ig .}..Ejz 0D (K353 1535 283,560 6.514 G002 19,289 7
R o 06 1331 327,10 6534 5% W A2R m
m 51575 174 NS 527 ITTAT 6551 615 40315 L]
A 66,112 3] AE3D 1523 434,745 6,564 6207 41753 }u:
0614 e o0 ASI0 95T 0,579 .254 41147 1
;; :E.: _:.5: :nlu-l L0173 517 ST 391 6,397 41,501 a2
1 ML i 0a1E0 1515 Bl A M 6.336 41418 1
M | 15805 IR FeilEY 1413 65,365 G B3I 42110 LT
15 13519 00731 ATTES 1511 H1.170 GELT 400 4238 35
267,96 TS 056 1506 177l 6642 6517 43,283 b
:E SIETED OIS 004 1503 35851 6,654 6.583 23,505 45
L | 083.7 ELET A4 RE THMLT Al L et eSS 0
5 11756 FrrIt O 1500 14 524.1 .04 f.641 44256 £5
i 43R4 1023 RN 1500 W00 R6AS 54693 MM
&5 S KIT T AT A 15081 55 7754 66 655 43561 3
;II: IHT '."“I tH 3:’”_\'& | 15000 118 23415 .6t 61663 44,416 ]
75 15 GT2H RN NEN 1374125 i 6.065 44429 75
i T TE0% ool NE 478 3326 &.667 .6 4 436 ::

HE] 144 3167 AN 1500

an2 144 66T 6.6 A4 440

(i)Shetty Stationaries supplied 6000 pens at a price of Rs 16 per pen. When (10)

price increases to Rs 10 per pen, the supply increases to 8000 pens. Find

the elasticity of pens.
[Write the formula, show calculations]
(if) Explain the concept of Equilibrium of Demand and Supply

Explain the following terminologies

() Straight Line Method of Depreciation with help of an example
(if) Declining Balance Method with help of an example

(i) Law of Demand and Law of Supply

(iv) Price Elasticity of Demand

Explain Strategic Planning. List out and explain the steps involved in
Strategic Planning Process.

Explain Off-the-Job Training Methods in detail

Explain Likert's four systems of Management

(20)

(20)

(20)

(10)
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8)

A)
B)

A)
B)

Differentiate between a Manager and a Leader

Compare Maslow's and Herzberg's Theories

Explain Mc. Gregor's X and Y Theories

Define Communication. Explain the types of Communication?

(10)

(10)

(10)

(20)

Page #5



	Question Paper
	MANIPAL ACADEMY OF HIGHER EDUCATION


